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19= Ratio

1. Write each ratio in its simplest

form.a)15: 5 d) 42 : 49

b)9:6 e)32:16

€)25:100 f)27:45:18

2. Simplify the

i ’ h}15 m:450 cm

E _L{_.; &

ratios. a)£1 : 20p

c) 3 kg:3600 g d) 1 hour:18 minutes

e) 2 m:130 cm:10 mm f)32 cm: 16 cm
9) 25 kg £ 100 kg h)0.3: 0.5

':I:-.'-:-"f.)l’:‘ix  12% N24m:45¢em
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3. There are 28 red pens and 84 black pens in a bag.

Write down the ratio of the number of red pens to the number of black pens.

Give your ratio in its simplest form.

4. The ratio of circles to squaresis 4 : 7
a) What fraction of the shapes are circles?

k) What fraction of the shapes are squares?

5. 4 of a group of people prefer tea 1o ;pﬁeé.

9 Bt
VWhat is the ratio of people who prefer tea to people who prefer coffee?

6. There are only black pens and green pens in a box,
The ratio of the number of black pens in the box to the number of green pens
in the boxis2: 5

What fraction of the pens are black?
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7. Class 8A voted for their favourite sport.

;—S of the class voted for football.

% of the class voted for netball.

The rest voted for other.

a)What fraction of the class voted for other?

b) Write the ratio of football : netball : other.

¢)Write the ratio of netball : other in its_ﬁﬁﬁ;ﬂf}és:t'fnrm.

8. There are 35 pens in abax
15 of the pens,‘%i‘a___'g'fé'én.'"
The rest of'ih% pensare red,
Write dq_gu'!fl_ tha :raﬂc of the number of green pens to the number of red pens.
Give yaurraim in its simplest form.

o -<-.
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9, A drink is mixed in the ratio
lemonade : orange : cranberry =6:3: 2
What fraction is orange?

Circle your answer,

3 2 3 5]
8 1 11 11
10. Here are some ratios. :
A B C:J' o D
9mm:15em) | 6dem:1m ED{lg 12kg 150 m - 0,25 km

Write each ratio in the correct pﬂEItIDI‘I in t'ne
table. One has been done for you..

Ratios equivalent to2:3| Ratios equivalentto 3 : 5

A

Ina vill[él'ge
*" the number of houses and the number of flats are in the ratio 7 : 4 the
“number of flats and the number of bungalows are inthe ratio8: 5

' '-';'_"'J-_f‘rﬁ'ere are 50 bungalows in the village.
" How many houses are there in the village?
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11. Work out
area of shape A : area of shape B

Give your answer in its simplest form.
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20- Eguivalent Ratio

1. Write the ratics inthe form 1 : n.

ay5:15 d) 2:8

b)3:9

¢) 12 : 30

T

2. There are 72 red cars and 86 blue cars in a r;ar park. »
Jack wants to take a sample of the cars and keep the ratio of red to
blue cars the same. il
He only wants 18 red cars, -':".::'-"3:" "
How many blue cars will Jack ﬂeél:l;i:'.?

3. Two numbers. ara |n tha ratln 3: 4. One of the numbers is 12.
Show that the twn pﬂsslble values for the other number are 16 and 9.

”'Hen and Susan share £20 in the ratio 1: 3
o " Work out how much money each person gets.

Kenk .....ooooereenns -

Susanf .,
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5, Two numbers are in the ratio 6 : 5. One of the numbers is 0.03.

Weork out the two possible values for the other number.

6. The ratic of the number of boys to the number of girls in a school is 4:3

There are 85 girls in the school.

Work out the total number of students in the school.

7. Yuri has a box containing white, milk and plain chndulafés in the ratic
white : milk : plain
12 7 2
There are more than 50 chncala‘leé_' in the box,

Find the smallest possible nurﬁl:}er bf milk chocolates in the

box.

8. A teacher ni;defs pencils and rulers in the ratio 3 5

a) One week, the teacher orders 240 pencils. How
many rulers does she order?

b} The week after, the feacher orders 240 rulers.
How many pencils does she order?
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9. The angles in a triangle are inthe ratio 1: 1.4
a) What type of triangle is it? How do you know’?

b) What is the size of the largest angle in the triangle?

10. The angles in a triangle are in the ratio 1:2: 3.

Neil says
This is a right-angled triangle. Is Neil

correct?Show your reasoning.

1" The mean of four numbers is 16
The numbers are in the ratio 1.: Tr' 3 5

Wark out the range of the m_:mbgrs.
Show your workings. =

12. Melissa is 13 w_.r'éars old,

Becky is ‘12 :.rears old.
i Damel is 10 years old.

Mellssa Becky and Daniel share £28 in the ratio of their ages.
v Eecky gives a third of her share ta her mother.

How much shauld Becky now have?
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13. Amy, Beth and Colin share 36 sweets intheralio2:3: 4

Work out the number of sweets that each of them raceives,

AMY .o SWEETE
Beth.............swesls
Colin.....co.. o SWEELS

14. A shop sells CDs and DVDs. ;
In one week the number of CDs sold and the number of DUDS sclld were in
the ratio 3:5 E
The total number of CDs and DVDs sold in the week w:a._a'-' 728
Work out the number of CDs sold. S, A

15. The ratio of girls to boys in a schaal is 2 : 3

(a) What fraction c:f.theéa stuﬂents are hoys?

In Year 8 the ratio of girls to boys is 1 : 3
There zre 300 students in Year 8.

(b} Work out the number of girls in Year 8.
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16.

17.

18.

Pat and Julie share some maney in the ratio 2 5

Julie gets £45 more than Pat.

How much money did Pat get?

(@) There are 32 students in a class.

All the students are either left-handed or right-handed. .-

The ratio of the number of left-handed students to the numher of
right-handed studentsis 1 : 7

Work out the number of right-handed students. i
b) Work out the length of eritr:a'\'é model lorry.

The length nf an Arrbus A300 aeroplane is 54 m,

The ratu:- nf the length of this aeroplane to its wingspan is 6. 5

Wc:r1-: uut the wingspan of the aeroplane.
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19. The scale of a map is 1: 25 000
On the map, the distance between two railway stations is 22 cm,

Work out the real distance between the two railway stations,
Give your answer in kKilometres.

20, Zosia and Abie share some money in the ratio 4 : 5,

Abie gets $15 more than Zosia.
a. What is the total amount of money that they share?
b. How much money do they each get?

21. The sides of a quadrilateral are in the rati':':; 2:3:5: 8. The difference

between the shortest side and the longest side is 7.5 cm,
Work out the perimeter of the q_uadri!atera],

22, Frank, Mary .ant':l Seth shared some sweets inthe ratio 4: 5 : 7

Seth got 18 r_‘nnré sweets than Frank,

Work out the total number of sweets they shared.,
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23. At a school
number of boys : number of girls =9:7
There are 116 more boys than girls.

Vork out the total number of students at the school.

24, The diagram shows a shaded rectangle.

It is divided into four smaller rectangles, labelled A, B, C a!pd D.

|

| i e Ry o) BNOVIL S o et Not drawn
' — . : — ' accurately

-~ SCM—=— — 10cm

The ratio of area G toareaBis 1: 2

Calculate a’:"gé A. B
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25. A word game has tiles with letters on. Some

letters are more common than others,

{(a) There are 100 tiles in the English version of the game.
Here is information about how many tiles show the lefter &, E or O.

El
9 tiles 12 tiles 8 tiles

1 am going to take one of the 100 tiles at random.

What is the probability that it will show one of the letters A, E or 07

(b) There are 104 tiles in the Russian version of the game.

The ratio of {iles Ehcwinglh, EorQisd4:4:5

Work out how many of the 104 tiles show the letiers A, E or O.

| B

tiles tiles files

Score AnNumbers Y eard 121
14



26. A dessert has both fruit and yoghurt inside.

Altogether, the mass of the fruit and yoghurt is 175g.

The ratio of the mass of fruit to the mass of yoghurtis 2: 5
What is the mass of the yoghurt?

57, Atown in the south of England has the lowest r_a’i_iu'cr:f'i'.nen to women in England.

There were only 87 men for every 100 uﬁqfneh._ﬁ o f

For every 100 men, how many women Men Women

were there? ;

Give your answer to the nearest integer. 87 : 100

Men Women

00 {———
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28. Tha acreans of widescreen and standard televisions ook different,

They have different proportions.

Widescreen : Standard
television | television
/;" i \\
Ratio of height to width Ratio of height to width
is 9:16 is 3:4

Keri starts to draw scale drawings of the televisions.
For each, the height is 4.5cm.
What should the width of each scale drawing be?

1
- The width of this scale drawing
Widescreen
d.5cr .
televisior
shouldbe ... . £&m
il 3
¥ __.____*
& T
_ The width of this scale drawing
4.5¢em :"5 Ta“fﬂ‘?rd
_ elevisior
shouldbe, . ... . om
L 1
L =
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29, Wark out the number of boys and girls in each class below.

{a) In class M, there are 27 pupils.

There are twice as many boys as girls.

(b) In class 8K, there are 28 pupils.
There are two more hoys than girls...

T T e ] e e D
umber. of boys|:Number of girls
e o R e R e ol e R e e e T
Ly B AR S o _«. s b s R S A S

(c) In class'_ﬁfr; "t_heré are 9 boys.
. The ratio of boys to girls is 1:2

PN T
e A AR

B A e e,
Number of girls

- T
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